Skyline Sanitary Sewer Extension				1		2		3		4	
contractors for informational purposes only and do not identify lowest			Northwest Cascade, Inc. PO Box 73399 Puyallup, WA 98373		Road Construction Northwest, Inc. PO Box 2228 Renton, WA 98056		New X, Inc. 19916 Old Owen Rd. #7 Monroe, WA 98272		A Advanced Septic Services, Inc. 1602 West Valley Highway S. Auburn, WA 98001		
respons	ible bidder. Bid review by staff and final award pendin	ng.	TOTAL		\$515,218.46		\$557,074.90		\$617,276.61		\$623,080.56
ITEM	DESCRIPTION	QTY	UNIT	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
NO.				PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
SCHEDL	JLE I: STREET										
	Mobilization	1	LS	46,500.00	\$46,500.00	50,000.00	\$50,000.00	64,000.00	\$64,000.00	32,000.00	\$32,000.00
1003	SPCC Plan	1	LS	500.00	\$500.00	500.00	\$500.00	2,440.00	\$2,440.00	500.00	\$500.00
1005	Clearing and Grubbing	1	LS	26,000.00	\$26,000.00	2,000.00	\$2,000.00	4,426.50	\$4,426.50	2,000.00	\$2,000.00
1010	Remove Existing Asphalt Concrete Pavement	230	SY	8.00	\$1,840.00	17.50	\$4,025.00	19.25	\$4,427.50	31.00	\$7,130.00
1015	Remove Existing Cement Concrete Pavement	980	SY	14.00	\$13,720.00	15.50	\$15,190.00	18.07	\$17,708.60	45.00	\$44,100.00
1020	Planing Bituminous Pavement	950	SY	9.50	\$9,025.00	12.50	\$11,875.00	10.13	\$9,623.50	12.00	\$11,400.00
1050	Saw Cut Existing Asphalt Concrete Pavement	540	LF	3.00	\$1,620.00	5.00	\$2,700.00	2.05	\$1,107.00	7.20	\$3,888.00
1055	Saw Cut Existing Cement Concrete Pavement	2,450	LF	4.50	\$11,025.00	7.50	\$18,375.00	3.16	\$7,742.00	11.00	\$26,950.00
1060	Roadway Excavation Incl. Haul	145	CY	50.00	\$7,250.00	55.25	\$8,011.25	53.42	\$7,745.90	70.00	\$10,150.00
1065	Unsuitable Foundation Excavation Incl. Haul	20	CY	75.00	\$1,500.00	25.00	\$500.00	55.33	\$1,106.60	72.00	\$1,440.00
1080	* Crushed Surfacing Top Course, 5/8 Inch Minus	40	TON	42.00	\$1,680.00	25.75	\$1,030.00	25.68	\$1,027.20	36.00	\$1,440.00
1085	Crushed Surfacing Base Course, 1-1/4 Inch Minus	270	TON	42.00	\$11,340.00	55.00	\$14,850.00	25.93	\$7,001.10	38.00	\$10,260.00
1095	HMA Class 1/2", PG 58V-22	455	TON	164.00	\$74,620.00	190.00	\$86,450.00	182.00	\$82,810.00	192.00	\$87,360.00
1125	HMA Class 1/2", PG 58V-22 for Temporary Pavement Patch	70	TON	249.00	\$17,430.00	160.00	\$11,200.00	182.00	\$12,740.00	230.00	\$16,100.00
1131	Cement Concrete Pavement - Including Dowels	5	CY	2,000.00	\$10,000.00	1,100.00	\$5,500.00	746.99	\$3,734.95	780.00	\$3,900.00
1220	Adjust Existing Catch Basin Grate or Curb Inlet Grate to Finished Grade	1	EA	600.00	\$600.00	1,000.00	\$1,000.00	500.00	\$500.00	900.00	\$900.00
1225	Adjust Existing Manhole Cover to Finished Grade	1	EA	600.00	\$600.00	1,000.00	\$1,000.00	500.00	\$500.00	900.00	\$900.00
1230	Adjust Existing Valve Box Top Section and Lid to Finished Grade	5	EA	600.00	\$3,000.00	625.00	\$3,125.00	500.00	\$2,500.00	750.00	\$3,750.00
1261	Remove and Restore Pump Station Sign	1	LS	725.00	\$725.00	450.00	\$450.00	1,000.00	\$1,000.00	600.00	\$600.00
1265	Remove and Restore Fence	40	LF	39.00	\$1,560.00	75.00	\$3,000.00	50.00	\$2,000.00	42.00	\$1,680.00
1315	Pothole Utilities	14	EA	585.00	\$8,190.00	775.00	\$10,850.00	500.00	\$7,000.00	600.00	\$8,400.00
1355	Minor Changes	1	CALC	15,000.00	\$15,000.00	15,000.00	\$15,000.00	15,000.00	\$15,000.00	15,000.00	\$15,000.00
	SUB TOTAL 10.1% SALES TAX SCHEDULE I TOTAL				\$263,725.00 \$26,636.23 \$290,361.23		\$266,631.25 \$26,929.76 \$293,561.01		\$256,140.85 \$25,870.23 \$282,011.08		\$289,848.00 \$29,274.65 \$319,122.65
SCHEDU	JLE III: SEWER										
3005	PVC Sewer Pipe, 8 Inch Diameter	550	LF	55.00	\$30,250.00	123.50	\$67,925.00	169.50	\$93,225.00	133.00	\$73,150.00
3035	PVC Side Sewer Pipe, 6 Inch Diameter	140	LF	111.00	\$15,540.00	104.00	\$14,560.00	164.82	\$23,074.80	235.00	\$32,900.00
3050	Manhole Under 12 Feet, Type 1 48 Inch Diameter	5	EA	2,500.00	\$12,500.00	7,500.00	\$37,500.00	10,288.30	\$51,441.50	7,000.00	\$35,000.00
3085	Locking Manhole Frame and Cover	5	EA	875.00	\$4,375.00		\$3,375.00	388.30	\$1,941.50	925.00	\$4,625.00
3100	Sewer Cleanout	3	EA	1,025.00	\$3,075.00	765.00	\$2,295.00	301.64	\$904.92	475.00	\$1,425.00
3115	Shoring or Extra Excavation, Class B	7,900	SF	0.20	\$1,580.00	0.05	\$395.00	2.94	\$23,226.00	1.20	\$9,480.00
3120	Foundation Material, Class I and II	20	TON	127.00	\$2,540.00	75.00	\$1,500.00	35.00	\$700.00	38.00	\$760.00
3130	Controlled Density Fill	10	CY	377.00	\$3,770.00		\$1,600.00	40.00	\$400.00	132.00	\$1,320.00
3140	* Crushed Surfacing Top Course, 5/8 Inch Minus	950	TON	42.00	\$39,900.00	25.75	\$24,462.50	25.68	\$24,396.00	36.00	\$34,200.00
	SUB TOTAL				\$113,530.00		\$153,612.50		\$219,309.72		\$192,860.00
	10.1% SALES TAX				\$11,466.53		\$15,514.86		\$22,150.28		\$19,478.86
	SCHEDULE III TOTAL			1	\$124,996.53	1	\$169,127.36		\$241,460.00		\$212,338.86

Skyl	ine Sanitary Sewer Extension			1		2	!	3		4	
Bid Opening: August 24, 2021, 11:00 AM			Northwest Cascade, Inc. PO Box 73399		Road Construction Northwest, Inc. PO Box 2228		New X, Inc. 19916 Old Owen Rd. #7 Monroe, WA 98272		A Advanced Septic Services, Inc. 1602 West Valley Highway S.		
Disclaimer: These preliminary bid results are provided as a convenience to contractors for informational purposes only and do not identify lowest			Puyallup, WA 98373		Renton, WA 98056	Renton, WA 98056			Auburn, WA 98001		
respons	sible bidder. Bid review by staff and final award p	ending.									
ITEM	DESCRIPTION	QTY	TOTAL UNIT	- UNIT	\$515,218.46 TOTAL	UNIT	\$557,074.90 TOTAL	UNIT	\$617,276.61 TOTAL	UNIT	\$623,080.56 TOTAL
NO.	DESCRIPTION	QIT	UNIT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
SCHEDI	JLE V: TRAFFIC CONTROL										
5005	Traffic Control Labor	200	HR	81.00	\$16,200.00	67.00	\$13,400.00	36.00	\$7,200.00	67.25	\$13,450.00
5010	Construction Signs Class A	400	SF	35.00	\$14,000.00	28.00	\$11,200.00	25.00	\$10,000.00	4.00	\$1,600.00
5015	Traffic Control Supervisor	100	HR	100.00	\$10,000.00	73.50	\$7,350.00	48.00	\$4,800.00	98.00	\$9,800.00
5016	Uniformed Off-Duty Police Officer	120	HR	95.00	\$11,400.00	125.00	\$15,000.00	75.00	\$9,000.00	100.00	\$12,000.00
5020	Temporary Traffic Control Devices	1	LS	6,000.00	\$6,000.00	3,660.00	\$3,660.00	5,000.00	\$5,000.00	4,200.00	\$4,200.00
5030	Portable Changeable Message Sign (PCMS)	140	DAY	60.00	\$8,400.00	45.00	\$6,300.00	50.30	\$7,042.00	28.25	\$3,955.00
5035	Sequential Arrow Sign (SAS)	40	DAY	22.00	\$880.00	45.00	\$1,800.00	50.00	\$2,000.00	42.75	\$1,710.00
5050	Permanent Channelization	1	LS	2,650.00	\$2,650.00	6,000.00	\$6,000.00	5,000.00	\$5,000.00	10,000.00	\$10,000.00
5080	Temporary Pavement Marking - Short Duration	550	LF	0.60	\$330.00	0.50	\$275.00	9.09	\$4,999.50	2.50	\$1,375.00
	SUB TOTAL				\$69,860.00		\$64,985.00		\$55,041.50		\$58,090.00
	10.1% SALES TAX				\$7,055.86		\$6,563.49		\$5,559.19		\$5,867.09
	SCHEDULE V TOTAL				\$76,915.86		\$71,548.49		\$60,600.69		\$63,957.09
SCHEDU	JLE VII: TEMPORARY EROSION & SEDIMENTATION	ON CONTROL									
7000	Seeding, Fertilizing, and Mulching	0.1	AC	14,500.00	\$1,450.00	16,330.00	\$1,633.00	20,000.00	\$2,000.00	46,464.00	\$4,646.40
7005	Filter Fabric Fence	380	LF	6.00	\$2,280.00	5.50	\$2,090.00	19.26	\$7,318.80	8.00	\$3,040.00
7010	Wattle	100	LF	4.60	\$460.00	5.50	\$550.00	24.40	\$2,440.00	7.00	\$700.00
7015	Inlet Protection	6	EA	80.00	\$480.00	95.00	\$570.00	100.00	\$600.00	38.00	\$228.00
7030	ESC Lead	30	HR	80.00	\$2,400.00	80.00	\$2,400.00	45.00	\$1,350.00	120.00	\$3,600.00
7055	Erosion/Water Pollution Control	1	FA	10,000.00	\$10,000.00	10,000.00	\$10,000.00	10,000.00	\$10,000.00	10,000.00	\$10,000.00
	SUB TOTAL				\$17,070.00		\$17,243.00		\$23,708.80		\$22,214.40
	10.1% SALES TAX				\$1,724.07		\$1,741.54		\$2,394.59		\$2,243.65
	SCHEDULE VII TOTAL				\$18,794.07		\$18,984.54		\$26,103.39		\$24,458.05
SCHEDI	JLE VIII: ROADSIDE RESTORATION										
8005	Topsoil Type A	30	CY	73.00	\$2,190.00	70.00	\$2,100.00	150.50	\$4,515.00	51.00	\$1,530.00
8015	Wood Chip Mulch	20	CY	79.00	\$1,580.00	70.00	\$1,400.00	96.75	\$1,935.00	69.00	\$1,380.00
	SUB TOTAL				\$3,770.00		\$3,500.00		\$6,450.00		\$2,910.00
	10.1% SALES TAX				\$380.77		\$353.50		\$651.45		\$293.91
	SCHEDULE VIII TOTAL				\$4,150.77		\$3,853.50		\$7,101.45		\$3,203.91
	SUMMARY:										
	SCHEDULE I TOTAL				\$290,361.23		\$293,561.01		\$282,011.08		\$319,122.65
	SCHEDULE III TOTAL				\$124,996.53		\$169,127.36		\$241,460.00		\$212,338.86
	SCHEDULE V TOTAL				\$76,915.86		\$71,548.49		\$60,600.69		\$63,957.09
	SCHEDULE VII TOTAL				\$18,794.07		\$18,984.54		\$26,103.39		\$24,458.05
	SCHEDULE VIII TOTAL				\$4,150.77		\$3,853.50		\$7,101.45		\$3,203.91
	CONSTRUCTION	N CONTRACT	TOTAL		\$515,218.46		\$557,074.90		\$617,276.61		\$623,080.56

Skyline Sanitary Sewer Extension

Bid Opening: August 24, 2021, 11:00 AM

Engineer's Estimate Thomas Leyrer

Disclaimer: These preliminary bid results are provided as a convenience to contractors for informational purposes only and **do not** identify lowest responsible bidder. Bid review by staff and final award pending.

responsi	ble bidder. Bid review by staff and final award pendi	ng.	TOTAL		\$533,985.00
ITEM	DESCRIPTION	QTY	UNIT	UNIT	TOTAL
NO.	5255 1751 .	٠	0	PRICE	AMOUNT
SCHEDU	ILE I: STREET				
1000	Mobilization	1	LS	37,000.00	\$37,000.00
1003	SPCC Plan	1	LS	2,000.00	\$2,000.00
1005	Clearing and Grubbing	1	LS	10,000.00	\$10,000.00
1010	Remove Existing Asphalt Concrete Pavement	230	SY	20.00	\$4,600.00
1015	Remove Existing Cement Concrete Pavement	980	SY	35.00	\$34,300.00
1020	Planing Bituminous Pavement	950	SY	10.00	\$9,500.00
1050	Saw Cut Existing Asphalt Concrete Pavement	540	LF	6.00	\$3,240.00
1055	Saw Cut Existing Cement Concrete Pavement	2,450	LF	10.00	\$24,500.00
1060	Roadway Excavation Incl. Haul	145	CY	50.00	\$7,250.00
1065	Unsuitable Foundation Excavation Incl. Haul	20	CY	65.00	\$1,300.00
1080 *	Crushed Surfacing Top Course, 5/8 Inch Minus	40	TON	50.00	\$2,000.00
1085	Crushed Surfacing Base Course, 1-1/4 Inch Minus	270	TON	45.00	\$12,150.00
1095	HMA Class 1/2", PG 58V-22	455	TON	100.00	\$45,500.00
1125	HMA Class 1/2", PG 58V-22 for Temporary Pavement Patch	70	TON	140.00	\$9,800.00
1131	Cement Concrete Pavement - Including Dowels	5	CY	800.00	\$4,000.00
1220	Adjust Existing Catch Basin Grate or Curb Inlet Grate to Finished Grade	1	EA	400.00	\$400.00
1225	Adjust Existing Manhole Cover to Finished Grade	1	EA	500.00	\$500.00
1230	Adjust Existing Valve Box Top Section and Lid to Finished Grade	5	EA	400.00	\$2,000.00
1261	Remove and Restore Pump Station Sign	1	LS	500.00	\$500.00
1265	Remove and Restore Fence	40	LF	90.00	\$3,600.00
1315	Pothole Utilities	14	EA	500.00	\$7,000.00
1355	Minor Changes	1	CALC	15,000.00	\$15,000.00
	SUB TOTAL				\$236,140.00
	10.1% SALES TAX				\$23,850.14
	SCHEDULE I TOTAL				\$259,990.14
	ILE III: SEWER				
3005	PVC Sewer Pipe, 8 Inch Diameter	550	LF	100.00	\$55,000.00
3035	PVC Side Sewer Pipe, 6 Inch Diameter	140	LF	90.00	\$12,600.00
3050	Manhole Under 12 Feet, Type 1 48 Inch Diameter	5	EA	5,000.00	\$25,000.00
3085	Locking Manhole Frame and Cover	5	EA	1,000.00	\$5,000.00
3100	Sewer Cleanout	3	EA	800.00	\$2,400.00
3115	Shoring or Extra Excavation, Class B	7,900	SF	1.00	\$7,900.00
3120	Foundation Material, Class I and II	20	TON	50.00	\$1,000.00
3130	Controlled Density Fill	10	CY	230.00	\$2,300.00
3140 *	Crushed Surfacing Top Course, 5/8 Inch Minus	950	TON	50.00	\$47,500.00
	SUB TOTAL				\$158,700.00
	10.1% SALES TAX				\$16,028.70
	SCHEDULE III TOTAL				\$174,728.70



Skyline Sanitary Sewer Extension

Bid Opening: August 24, 2021, 11:00 AM

Engineer's Estimate Thomas Leyrer

Disclaimer: These preliminary bid results are provided as a convenience to contractors for informational purposes only and **do not** identify lowest responsible bidder. Bid review by staff and final award pending.

respons	ible bidder. Bid review by staff and final award pe	enaing.	TOTAL		\$533,985.00
ITEM	DESCRIPTION	QTY	UNIT	UNIT	TOTAL
NO.	DESCRIPTION	٠	0.1	PRICE	AMOUNT
SCHEDU	JLE V: TRAFFIC CONTROL				
5005	Traffic Control Labor	200	HR	65.00	\$13,000.00
5010	Construction Signs Class A	400	SF	25.00	\$10,000.00
5015	Traffic Control Supervisor	100	HR	80.00	\$8,000.00
5016	Uniformed Off-Duty Police Officer	120	HR	100.00	\$12,000.00
5020	Temporary Traffic Control Devices	1	LS	5,000.00	\$5,000.00
5030	Portable Changeable Message Sign (PCMS)	140	DAY	80.00	\$11,200.00
5035	Sequential Arrow Sign (SAS)	40	DAY	80.00	\$3,200.00
5050	Permanent Channelization	1	LS	6,000.00	\$6,000.00
5080	Temporary Pavement Marking - Short Duration	550	LF	1.00	\$550.00
	, ,				
	SUB TOTAL				\$68,950.00
	10.1% SALES TAX				\$6,963.95
	SCHEDULE V TOTAL				\$75,913.95
SCHEDU	JLE VII: TEMPORARY EROSION & SEDIMENTATION	N CONTROL			
7000	Seeding, Fertilizing, and Mulching	0.1	AC	6,000.00	\$600.00
7005	Filter Fabric Fence	380	LF	7.00	\$2,660.00
7010	Wattle	100	LF	6.00	\$600.00
7015	Inlet Protection	6	EA	100.00	\$600.00
7030	ESC Lead	30	HR	100.00	\$3,000.00
7055	Erosion/Water Pollution Control	1	FA	10,000.00	\$10,000.00
	SUB TOTAL				\$17,460.00
	10.1% SALES TAX				\$1,763.46
	SCHEDULE VII TOTAL				\$19,223.46
	JLE VIII: ROADSIDE RESTORATION				
8005	Topsoil Type A	30	CY	75.00	\$2,250.00
8015	Wood Chip Mulch	20	CY	75.00	\$1,500.00
	OUD TOTAL				40
	SUB TOTAL				\$3,750.00
	10.1% SALES TAX				\$378.75
	SCHEDULE VIII TOTAL				\$4,128.75
	SUMMARY:				
	SCHEDULE I TOTAL				\$259,990.14
	SCHEDULE III TOTAL				\$174,728.70
	SCHEDULE V TOTAL				\$75,913.95
	SCHEDULE VII TOTAL				\$19,223.46
	SCHEDULE VIII TOTAL				\$4,128.75
					•
	CONSTRUCTION	CONTRACT	TOTAL		\$533,985.00

